Cumulative fraction of events

O3 BBH (cmp)
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m=  N=2 (HL,HV,LV) median= 545 deg?
mm N=3 (HLV) median= 68.1 deg?
== N=2 (HLHV,LV) median= 607 deg?
== N=3(HLV) median= 79.2 deg? I
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Cumulative fraction of events

O3 BBH (25Mpc)

1.00 T =
m=  N=2 (HL,HV,LV) median= 545 deg?
== N=3 (HLK,HVK,LVK) median= 296 deg?
m— N=3 (HLV) median= 68.1 deg?
s N=4 (HLVK) median= 43.0 deg? /
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Cumulative fraction of events

03 BBH (15Mpc)

1.00 X
m=  N=2 (HL,HV,LV) median= 545 deg?
== N=3 (HLK,HVK,LVK) median= 447 deg?
m— N=3 (HLV) median= 68.1 deg?
s N=4 (HLVK) median= 53.8 deg?
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Cumulative fraction of events

O3 BBH (8Mpc)

1.00 X
m=  N=2 (HL,HV,LV) median= 545 deg?
== N=3 (HLK,HVK,LVK) median= 525 deg?
m— N=3 (HLV) median= 68.1 deg?
s N=4 (HLVK) median= 65.4 deg?
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